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1. (a) Derive expression for Delta-Star Transformation. (5)(C02)(L2)

When a circuit cannot be simplified in normal series parallel reduction technique, the star delta transformation technique is used.

Equations for star-delta transformation:
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Equations for delta-star transformation:
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2.

(b) Find the equivalent resistance Rag using Delta-Star Transformation. (5)(CO2)(L3)

(a) Draw the dual of the following circuit. (4)(C02) (L3)
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(b) Convert the given circuit into a single voltage source in series with a single resistance using source
transformation & shifting. (6)(C0O2)(L3)




3. (a) Find power delivered by 50V source using source transformation. (5)(C0O2)(L3)
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(b) Find Rap using Delta-Star Transformation. All resistances are of same value 10Q. (5)(C0O2) (L3)
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4. Find current in 1Q resistor using Thevenin’s & Superposition Theorem simultaneously. (10)(CO3)(L3)
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(a) Find the value of R, for which maximum power is deliveredto it. (6)(C0O3) (L3)
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(b) Find current through | using Millman’s Theorem. (4)(CcO3) (L3)
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6. Find Thevenin’s & Norton’s equivalent circuit for the given network. (10)(Cc03) (L3)






7. (a) Find current through 16Q resistor using Norton’s Theorem. (5)(C0O3) (L3)
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(b)Find current through R, using Thevenin’s Theorem (5)(co3) (L3)
2 0 | S =

"4':{ r,” \'}h = V’:{_

- 7 =
‘3 @) g p NSl I
b tos g
A
"N 2.5 | _f SN s V= 15V

293
o« 20 i
920 Re R ¥




